

BINOMIAL CONVOLUTIONS IDENTITIES OF HYBRID FIBONACCI AND LUCAS POLYNOMIALS

R. RANGARAJAN¹, C. K. HONNEGOWDA ² AND RANGASWAMY³

^{1,2} Department of Studies in Mathematics,
University of Mysore, Manasagangotri, Mysuru - 570 006, India

³ Department of Mathematics, B.M.S. College of Engineering,
Bull Temple Road, Basavanagudi,
Bengaluru - 560 019, India

Abstract

Two variable hybrid Fibonacci and Lucas polynomials display many interesting combinatorial properties which are generalizations of those of Fibonacci and Lucas numbers [6, 7, 8]. In the present paper, both the polynomials are shown to satisfy binomial convolution identities which will be a good addition to the current literature.

1. Introduction

Binomial coefficients, Fibonacci and Lucas numbers are basic combinatorial entities [2, 3, 9, 10, 11]. Several researchers are looking for their binomial convolution identities [4, 5]. Two variable generalization of Fibonacci and Lucas variables given by two Pascal

Key Words : *Combinatorial identities, Fibonacci and Lucas numbers and Convolution identities.*

2000 AMS Subject Classification : 05A19, 30B70 and 1B33.

© <http://www.ascent-journals.com>

University approved journal (Sl No. 48305)

like tables displaying the terms $(x + y)^n$ and $(x + 2y)(x + y)^n$ are quite remarkable. They naturally contain F_n and L_n , two kinds of Fibonacci and Lucas polynomials as special cases. Recently these two variable generalization of F_n and L_n are studied as two variable hybrid Fibonacci and Lucas polynomials [6, 7].

The hybrid Fibonacci and Lucas polynomials in two variables x and y of degree n , are given by the following binet forms [2, 6, 7]:

$$f_n^{(H)}(x, y) = \frac{1}{\sqrt{x^2 + 4y}} \left[\left(\frac{x + \sqrt{x^2 + 4y}}{2} \right)^n - \left(\frac{x - \sqrt{x^2 + 4y}}{2} \right)^n \right] \quad (1.1)$$

$$l_n^{(H)}(x, y) = \left[\left(\frac{x + \sqrt{x^2 + 4y}}{2} \right)^n + \left(\frac{x - \sqrt{x^2 + 4y}}{2} \right)^n \right] \quad (1.2)$$

They satisfy the following 3 term recurrence relations :

$$f_{n+1}^{(H)}(x, y) = x f_n^{(H)}(x, y) + y f_{n-1}^{(H)}(x, y), \quad (1.3)$$

$$l_{n+1}^{(H)}(x, y) = x l_n^{(H)}(x, y) + y l_{n-1}^{(H)}(x, y) \quad (1.4)$$

$$\text{and } l_n^{(H)}(x, y) = x f_n^{(H)}(x, y) + 2y f_{n-1}^{(H)}(x, y). \quad (1.5)$$

Put $\alpha = \left(\frac{x + \sqrt{x^2 + 4y}}{2} \right)$ and $\beta = \left(\frac{x - \sqrt{x^2 + 4y}}{2} \right)$. Then

$$f_n^{(H)}(x, y) = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad l_n^{(H)}(x, y) = \alpha^n + \beta^n. \quad (1.6)$$

Also,

$$\alpha + \beta = x, \quad \alpha - \beta = \sqrt{x^2 + 4y} \quad \text{and} \quad \alpha\beta = -y. \quad (1.7)$$

Hybrid Fibonacci and Lucas polynomials in two variables display many interesting combinatorial properties useful for research workers in combinatorics [2, 3, 9, 10, 11]. In the next section, a Bernoulli type identity for

$$B_n(m, x) = \sum_{k=0}^n \binom{n}{k} k^m x^k$$

is derived which will be used in the section 3 and 4. In the ensuing section, Binomial Convolution Identities of hybrid Fibonacci and Lucas polynomials in two variables with a fixed power of expanding variable, $k^m, m = 0, 1$ are stated and proved. In the last section, Binomial Convolution Identities of hybrid Fibonacci and Lucas polynomials in

two variables with a fixed power of expanding variable, $k^m, m = 2, 3$ are stated and proved.

2. A Bernoulli Type Identity

By Bernoulli identity [1] we mean

$$(n+1)^m - 1 = \binom{m}{1} S_n(m-1) + \binom{m}{2} S_n(m-2) + \cdots + \binom{m}{m} S_n(0).$$

where $S_n(m) = 1^m + 2^m + \cdots + n^m, S_n(0) = n, m = 2, 3, 4, \dots$

The derivation is quite simple. Consider

$$\begin{aligned} (n+1)^m - 1 + S_n(m) &= \sum_{k=1}^n (k+1)^m \\ &= \sum_{k=1}^n \left[\binom{m}{0} k^m + \binom{m}{1} k^{m-1} + \cdots + \binom{m}{m} k^0 \right] \\ &= S_n(m) + \binom{m}{1} S_n(m-1) + \cdots + \binom{m}{m} S_n(0). \end{aligned}$$

Hence by cancelling $S_n(m)$ on both sides one can get Bernoulli identity [1].

Following the same idea of derivation one can also derive a Bernoulli type identity :

$$\text{If } B_n(0) = \sum_{k=0}^n \binom{n}{k} = 2^n, B_n(m) = \sum_{k=0}^n \binom{n}{k} k^m, m = 1, 2, 3, \dots, \text{ then}$$

$$\begin{aligned} \frac{1}{n+1} B_{n+1}(m+1) &= \frac{1}{n+1} \sum_{k=1}^n \binom{n+1}{k} k^{m+1} \\ &= \frac{1}{n+1} \sum_{k=0}^n \binom{n+1}{k+1} (k+1)^{m+1} \\ &= \sum_{k=0}^n \binom{n}{k} (k+1)^m \\ &= \sum_{k=0}^n \left[\binom{m}{0} k^m + \binom{m}{1} k^{m-1} + \cdots + \binom{m}{m} 1 \right] \end{aligned}$$

Hence

$$\frac{1}{n+1} B_{n+1}(m+1) = \binom{m}{0} B_n(m) + \binom{m}{1} B_n(m-1) + \cdots + \binom{m}{m} B_n(0).$$

where $B_n(0) = 2^n, m = 0, 1, 2, 3, 4, \dots$

Table 1 : First four sums

$B_n(0)$	2^n
$B_n(1)$	$n2^{n-1}$
$B_n(2)$	$n(3n-1)2^{n-2}$
$B_n(3)$	$n^2(n+3)2^{n-3}$

Let us define

$$\begin{aligned}
B_n(0, x) &= \sum_{k=0}^n \binom{n}{k} x^k = (x+1)^n \\
B_n(m, x) &= \sum_{k=0}^n \binom{n}{k} k^m x^k \\
\frac{1}{n+1} B_{n+1}(m+1, x) &= \frac{1}{n+1} \sum_{k=1}^{n+1} \binom{n+1}{k} k^{m+1} x^k \\
&= \frac{1}{n+1} \sum_{k=0}^n \binom{n+1}{k+1} (k+1)^{m+1} x^{k+1} \\
&= x \sum_{k=0}^n \binom{n}{k} (k+1)^m x^k \\
&= x \left[\binom{m}{0} B_n(m, x) + \binom{m}{1} B_n(m-1, x) + \cdots + \binom{m}{m} B_n(0, x) \right]
\end{aligned}$$

So, a Bernoulli type identity for

$$\begin{aligned}
B_n(0, x) &= \sum_{k=0}^n \binom{n}{k} x^k = (x+1)^n, \quad B_n(m, x) = \sum_{k=0}^n \binom{n}{k} k^m x^k \text{ is given by} \\
\frac{1}{n+1} B_{n+1}(m+1, x) &= x \left[\binom{m}{0} B_n(m, x) + \binom{m}{1} B_n(m-1, x) + \cdots + \binom{m}{m} B_n(0, x) \right] \\
&\quad m=0,1,2,\dots
\end{aligned}$$

Table 2 : First four sums $B_n(m, x)$

$B_n(0, x)$	$(x+1)^n$
$B_n(1, x)$	$(nx)(x+1)^{n-1}$
$B_n(2, x)$	$(nx)(nx+1)(x+1)^{n-2}$
$B_n(3, x)$	$(nx)^2(nx+3)(x+1)^{n-3} - (nx)(x-1)(x+1)^{n-3}$

For $x = 1$, we get back the Table (1) for $B_n(m)$. The above table is very useful to derive binomial convolution identities satisfied by $f_{(n)}^{(H)}(x, y)$ and $l_{(n)}^{(H)}(x, y)$ (c.f. (1.1) and (1.2)) which will be stated and proved in the next two sections.

3. Binomial Convolution Identities at the Levels $m = 0$ and $m = 1$

The Binomial Convolution Identities at $m = 0$ and $m = 1$ are stated and proved in Theorems(1) and (2) respectively.

Theorem 1 : The convolution identities at the level $m = 0$ are

$$(1.1) \quad \sum_{k=0}^n \binom{n}{k} f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \frac{2^n l_n^{(H)}(x, y) - 2x^n}{(x^2 + 4y)}$$

$$(1.2) \quad \sum_{k=0}^n \binom{n}{k} l_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) = 2^n l_n^{(H)}(x, y) + 2x^n$$

$$(1.3) \quad \sum_{k=0}^n \binom{n}{k} l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = 2^n f_n^{(H)}(x, y)$$

$$(1.4) \quad \sum_{k=0}^n \binom{n}{k} f_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) = 2^n f_n^{(H)}(x, y)$$

Proof : The result in Table 1 for $m = 0$, Table 2 for $B_n(0, \frac{\alpha}{\beta}), B_n(0, \frac{\beta}{\alpha})$ and the equations (1.6) and (1.7) will take us through the derivation step by step for all four identities.

$$\begin{aligned} (1.1) : \quad & \sum_{k=0}^n \binom{n}{k} f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\ &= \frac{1}{(\alpha - \beta)^2} \left[\sum_{k=0}^n \binom{n}{k} (\alpha^n + \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} \left(\frac{\alpha}{\beta} \right)^k - \alpha^n \sum_{k=0}^n \binom{n}{k} \left(\frac{\beta}{\alpha} \right)^k \right] \\ &= \frac{1}{(x^2 + 4y)} \left[2^n l_n^{(H)}(x, y) - \beta^n \left(1 + \frac{\alpha}{\beta} \right)^n - \alpha^n \left(1 + \frac{\beta}{\alpha} \right)^n \right] \\ &= \frac{1}{(x^2 + 4y)} \left[2^n l_n^{(H)}(x, y) - 2(\alpha + \beta)^n \right] \\ &= \frac{2^n l_n^{(H)}(x, y) - 2x^n}{2(x^2 + 4y)}. \end{aligned}$$

$$\begin{aligned}
(1.3) : \quad & \sum_{k=0}^n \binom{n}{k} l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} (\alpha^k + \beta^k) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)} \left[\sum_{k=0}^n \binom{n}{k} (\alpha^n - \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} \left(\frac{\alpha}{\beta} \right)^k + \alpha^n \sum_{k=0}^n \binom{n}{k} \left(\frac{\beta}{\alpha} \right)^k \right] \\
&= \sum_{k=0}^n \binom{n}{k} \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} \right) - \frac{\beta^n}{(\alpha - \beta)} \left(1 + \frac{\alpha}{\beta} \right)^n + \frac{\alpha^n}{(\alpha - \beta)} \left(1 + \frac{\beta}{\alpha} \right)^n \\
&= 2^n f_n^{(H)}(x, y) + \frac{1}{(\alpha - \beta)} [-(\alpha + \beta)^n + (\alpha + \beta)^n] \\
&= 2^n f_n^{(H)}(x, y).
\end{aligned}$$

The proofs of (1.2) and (1.4) are similar to that of (1.1) and (1.3) respectively.

Theorem 2 : The convolution identities at the level $m = 1$ are

$$(2.1) \quad \sum_{k=0}^n \binom{n}{k} k f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \frac{2^{n-1} n l_n^{(H)}(x, y) - n x^n}{(x^2 + 4y)}$$

$$(2.2) \quad \sum_{k=0}^n \binom{n}{k} k l_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) = 2^{n-1} n l_n^{(H)}(x, y) + n x^n$$

$$(2.3) \quad \sum_{k=0}^n \binom{n}{k} k l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = 2^{n-1} n f_n^{(H)}(x, y) - n x^{n-1}$$

$$(2.4) \quad \sum_{k=0}^n \binom{n}{k} k f_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) = 2^{n-1} n f_n^{(H)}(x, y) + n x^{n-1}$$

Proof : The result in Table 1 for $m = 1$, Table 2 for $B_n(1, \frac{\alpha}{\beta}), B_n(1, \frac{\beta}{\alpha})$ and the equations (1.6) and (1.7) will take us through the derivation step by step for all four identities.

$$\begin{aligned}
(2.1) : \quad & \sum_{k=0}^n \binom{n}{k} k f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)^2} \left[\sum_{k=0}^n \binom{n}{k} k (\alpha^n + \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k \left(\frac{\alpha}{\beta} \right)^k - \alpha^n \sum_{k=0}^n \binom{n}{k} k \left(\frac{\beta}{\alpha} \right)^k \right] \\
&= \frac{1}{(x^2 + 4y)} \left[n 2^{n-1} l_n^{(H)}(x, y) - \beta^n n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} - \alpha^n n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \right] \\
&= \frac{1}{(x^2 + 4y)} \left[n 2^{n-1} l_n^{(H)}(x, y) - n (\alpha + \beta)^{n-1} (\alpha + \beta) \right] \\
&= \frac{n 2^{n-1} l_n^{(H)}(x, y) - n x^n}{(x^2 + 4y)}.
\end{aligned}$$

$$\begin{aligned}
(2.3) \quad & \sum_{k=0}^n \binom{n}{k} k l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k (\alpha^k + \beta^k) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)} \left[\sum_{k=0}^n \binom{n}{k} k (\alpha^n - \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k \left(\frac{\alpha}{\beta} \right)^k + \alpha^n \sum_{k=0}^n \binom{n}{k} k \left(\frac{\beta}{\alpha} \right)^k \right] \\
&= \sum_{k=0}^n \binom{n}{k} k \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} \right) - \frac{\beta^n}{(\alpha - \beta)} n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} + \frac{\alpha^n}{(\alpha - \beta)} n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \\
&= n 2^{n-1} f_n^{(H)}(x, y) + \frac{1}{\alpha - \beta} (n) (\alpha + \beta)^{n-1} (\beta - \alpha) \\
&= n 2^{n-1} f_n^{(H)}(x, y) - n x^{n-1}.
\end{aligned}$$

The proofs of (2.2) and (2.4) are similar to that of (2.1) and (2.3) respectively.

4. Binomial Convolution Identities at the Levels $m = 2$ and $m = 3$

In this section, we continue the computation of the Convolution identities at next two higher levels.

Theorem 3 : The convolution identities at the level $m = 2$ are

$$\begin{aligned}
(3.1) \quad & \sum_{k=0}^n \binom{n}{k} k^2 f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) \\
&= \frac{1}{(x^2 + 4y)} \left[2^{n-2} n(3n-1) l_n^{(H)}(x, y) - [n(n-1)(x^2 + 2y)x^{n-2} + nx^n] \right]
\end{aligned}$$

$$\begin{aligned}
(3.2) \quad & \sum_{k=0}^n \binom{n}{k} k^2 l_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) \\
&= 2^{n-2} n(3n-1) l_n^{(H)}(x, y) + n(n-1)x^{n-2}(x^2 + 2y) + nx^n
\end{aligned}$$

$$(3.3) \quad \sum_{k=0}^n \binom{n}{k} k^2 l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = 2^{n-2} n(3n-1) f_n^{(H)}(x, y) - n^2 x^{n-1}$$

$$(3.4) \quad \sum_{k=0}^n \binom{n}{k} k^2 f_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) = 2^{n-2} n(3n-1) f_n^{(H)}(x, y) + n^2 x^{n-1}$$

Proof : The result in Table 1 for $m = 2$, Table 2 for $B_n(2, \frac{\alpha}{\beta}), B_n(2, \frac{\beta}{\alpha})$ and the equations (1.6) and (1.7) will take us through the derivation step by step for all four

identities.

$$\begin{aligned}
(3.1) \quad & \sum_{k=0}^n \binom{n}{k} k^2 f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)^2} \left[\sum_{k=0}^n \binom{n}{k} k^2 (\alpha^n + \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\alpha}{\beta} \right)^k - \alpha^n \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\alpha}{\beta} \right)^k \right] \\
&= \frac{1}{(x^2 + 4y)} \left[n(3n-1)2^{n-2} l_n^{(H)}(x, y) - \beta^n \left(n(n-1) \frac{\alpha^2}{\beta^2} \left(1 + \frac{\alpha}{\beta} \right)^{n-2} + n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} \right) \right. \\
&\quad \left. - \alpha^n \left(n(n-1) \frac{\beta^2}{\alpha^2} \left(1 + \frac{\beta}{\alpha} \right)^{n-2} + n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \right) \right] \\
&= \frac{1}{(x^2 + 4y)} \left[n(3n-2)2^{n-2} l_n^{(H)}(x, y) \right. \\
&\quad \left. - \left(n(n-1)(\alpha + \beta)^{n-2}(\alpha^2 + \beta^2) + n(\alpha + \beta)^{n-1}(\alpha + \beta) \right) \right] \\
&= \frac{1}{(x^2 + 4y)} \left[2^{n-2} n(3n-1) l_n^{(H)}(x, y) - [n(n-1)(x^2 + 2y)x^{n-2} + nx^n] \right]. \\
&\quad \text{(by repeated deductions using (1.3), (1.4) and (1.5)).} \\
(3.3) \quad & \sum_{k=0}^n \binom{n}{k} k^2 l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k^2 (\alpha^k + \beta^k) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)} \left[\sum_{k=0}^n \binom{n}{k} k^2 (\alpha^n - \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\alpha}{\beta} \right)^k + \alpha^n \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\beta}{\alpha} \right)^k \right] \\
&= \sum_{k=0}^n \binom{n}{k} k^2 \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} \right) - \frac{\beta^n}{(\alpha - \beta)} \left[n(n-1) \frac{\alpha^2}{\beta^2} \left(1 + \frac{\alpha}{\beta} \right)^{n-2} \right. \\
&\quad \left. + n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} \right] + \frac{\alpha^n}{(\alpha - \beta)} \left[n(n-1) \frac{\beta^2}{\alpha^2} \left(1 + \frac{\beta}{\alpha} \right)^{n-2} + n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \right] \\
&= n(3n-1)2^{n-1} f_n^{(H)}(x, y) + \frac{1}{\alpha - \beta} \left[n(n-1)(\alpha + \beta)^{n-2}(\beta^2 - \alpha^2) \right. \\
&\quad \left. + n(\alpha + \beta)^{n-1}(\beta - \alpha) \right] \\
&= n(3n-1)2^{n-2} f_n^{(H)}(x, y) - n^2 x^{n-1}. \\
&\quad \text{(by repeated deductions using (1.3), (1.4) and (1.5)).}
\end{aligned}$$

The proofs of (3.2) and (3.4) are similar to that of (3.1) and (3.3) respectively.

Theorem 4 : The convolution identities at the level $m = 3$ are

$$(4.1) \quad \sum_{k=0}^n \binom{n}{k} k^3 f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) \\ = \frac{1}{(x^2 + 4y)} \left[2^{n-3} n^2 (n+3) l_n^{(H)}(x, y) - [(3n^3 - 3n^2)x^{n-2}y + n^3x^n] \right]$$

$$(4.2) \quad \sum_{k=0}^n \binom{n}{k} k^3 l_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) \\ = 2^{n-3} n^2 (n+3) l_n^{(H)}(x, y) + (3n^3 - 3n^2)x^{n-2}y + n^3x^n$$

$$(4.3) \quad \sum_{k=0}^n \binom{n}{k} k^3 l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) \\ = 2^{n-3} n^2 (n+3) f_n^{(H)}(x, y) - [(n^3 - 3n^2 + 2n)x^{n-3}y + n^3x^{n-1}]$$

$$(4.4) \quad \sum_{k=0}^n \binom{n}{k} k^3 f_k^{(H)}(x, y) l_{n-k}^{(H)}(x, y) \\ = 2^{n-3} n^2 (n+3) f_n^{(H)}(x, y) + [(n^3 - 3n^2 + 2n)x^{n-3}y + n^3x^{n-1}]$$

Proof : The result in Table 1 for $m = 3$, Table 2 for $B_n(3, \frac{\alpha}{\beta}), B_n(3, \frac{\beta}{\alpha})$ and the equations (1.6) and (1.7) will take us through the derivation step by step for all four identities.

$$(4.1) \quad \sum_{k=0}^n \binom{n}{k} k^3 f_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\ = \frac{1}{(\alpha - \beta)^2} \left[\sum_{k=0}^n \binom{n}{k} k^3 (\alpha^n + \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\alpha}{\beta} \right)^k - \alpha^n \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\alpha}{\beta} \right)^k \right] \\ = \frac{1}{(x^2 + 4y)} \left[n^2(n+3)2^{n-3}l_n^{(H)}(x, y) - \beta^n \left(n(n-1)(n-2) \frac{\alpha^3}{\beta^3} \left(1 + \frac{\alpha}{\beta} \right)^{n-3} \right. \right. \\ + 3n(n-1) \frac{\alpha^2}{\beta^2} \left(1 + \frac{\alpha}{\beta} \right)^{n-2} + n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} \Big) - \alpha^n \left(n(n-1) \frac{\beta^3}{\alpha^3} \left(1 + \frac{\beta}{\alpha} \right)^{n-3} \right. \\ \left. \left. + 3n(n-1) \frac{\beta^2}{\alpha^2} \left(1 + \frac{\beta}{\alpha} \right)^{n-2} + n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \right) \right]$$

$$\begin{aligned}
&= \frac{1}{(x^2 + 4y)} \left[n^2(n+3)2^{n-3}l_n^{(H)}(x, y) - \left(n(n-1)(n-2)(\alpha + \beta)^{n-3}(\alpha^3 + \beta^3) \right. \right. \\
&\quad \left. \left. + 3n(n-1)(\alpha + \beta)^{n-2}(\alpha^2 + \beta^2) + n(\alpha + \beta)^{n-1}(\alpha + \beta) \right) \right] \\
&= \frac{n^2(n+3)2^{n-3}l_n^{(H)}(x, y) - \left[(3n^3 - 3n^2)x^{n-2}y + n^3x^n \right]}{(x^2 + 4y)}. \\
&\quad \text{(by repeated deductions using (1.3) , (1.4) and (1.5)).}
\end{aligned}$$

$$\begin{aligned}
(4.3) \quad &\sum_{k=0}^n \binom{n}{k} k^3 l_k^{(H)}(x, y) f_{n-k}^{(H)}(x, y) = \sum_{k=0}^n \binom{n}{k} k^3 (\alpha^k + \beta^k) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \\
&= \frac{1}{(\alpha - \beta)} \left[\sum_{k=0}^n \binom{n}{k} k^3 (\alpha^n - \beta^n) - \beta^n \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\alpha}{\beta} \right)^k + \alpha^n \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\beta}{\alpha} \right)^k \right] \\
&= \sum_{k=0}^n \binom{n}{k} k^3 \left(\frac{\alpha^n - \beta^n}{\alpha - \beta} \right) - \frac{\beta^n}{(\alpha - \beta)} \left[n(n-1)(n-2) \frac{\alpha^3}{\beta^3} \left(1 + \frac{\alpha}{\beta} \right)^{n-3} \right. \\
&\quad \left. + 3n(n-1) \frac{\alpha^2}{\beta^2} \left(1 + \frac{\alpha}{\beta} \right)^{n-2} + n \frac{\alpha}{\beta} \left(1 + \frac{\alpha}{\beta} \right)^{n-1} \right] + \frac{\alpha^n}{(\alpha - \beta)} \left[n(n-1)(n-2) \frac{\beta^3}{\alpha^3} \left(1 + \frac{\beta}{\alpha} \right)^{n-3} \right. \\
&\quad \left. + 3n(n-1) \frac{\beta^2}{\alpha^2} \left(1 + \frac{\beta}{\alpha} \right)^{n-2} + n \frac{\beta}{\alpha} \left(1 + \frac{\beta}{\alpha} \right)^{n-1} \right] \\
&= n^2(n+3)2^{n-3}f_n^{(H)}(x, y) + \frac{1}{\alpha - \beta} \left[n(n-1)(n-2)(\alpha + \beta)^{n-3}(\beta^3 - \alpha^3) \right. \\
&\quad \left. + 3n(n-1)(\alpha + \beta)^{n-2}(\beta^2 - \alpha^2) + n(\alpha + \beta)^{n-1}(\beta - \alpha) \right] \\
&= n^2(n+3)2^{n-3}f_n^{(H)}(x, y) - [(n^3 - 3n^2 + 2n)x^{n-3}y + n^3x^{n-1}]. \\
&\quad \text{(by repeated deductions using (1.3) , (1.4) and (1.5)).}
\end{aligned}$$

The proofs of (4.2) and (4.4) are similar to that of (4.1) and (4.3) respectively.

The same procedure of employing generalized Binomial summation can be applied to compute convolution identities at any level.

Acknowledgement

The second author would like to thank both UGC -SWRO, F. No. FIP/12th Plan/KADA018 TF02 and Govt. of Karnataka (DCE).

References

- [1] Anglin W. S., The Queen of Mathematics, An Introduction to Number Theory, Kluwer Academy Publishers, (1995).
- [2] Koshy T., Fibonacci and Lucas Numbers with Applications, A Wiley Interscience Publication, New York, (2001).
- [3] Koshy T., Elementary Number Theory with Applications, Academic press, Second edition, (2007).
- [4] Kim A., Convolution sums Related to fibonacci numbers and lucas numbers, Asian Research journal of mathematics, 1(1)(2016), 1-17.
- [5] Kim A., Generalization of Convolution sums with fibonacci numbers and lucas numbers, Asian Research journal of mathematics, 1(1)(2016), 1-10.
- [6] Rangarajan R., Honne gowda C K and Shashikala P., Certain combinatorial results on two variable hybrid Fibonacci polynomials, International Journal of computational and Applied mathematics, 12(2)(2017), 603-613.
- [7] Rangarajan R., Honne gowda C K and Shashikala P., A two variable Lucas polynomials corresponding to hybrid Fibonacci polynomials, Global Journal of pure and Applied mathematics, 12(6)(2017), 1669-1682.
- [8] Rangarajan R., Honne gowda C K and Rangaswamy, Convolution identities involving fixed power of expanding variable, hybrid Fibonacci and Lucas polynomials, International J. of Math. sci. and Engg. Appls. (IJMSEA), 11(II) (2017), 99-110.
- [9] Riordan J., Combinatorial Identities, Robert E. Krieger Publishing Company, New York, (1979).
- [10] Riordan J., An introduction to Combinatorial Analysis, John Wiley and Sons, Inc., New York, (1967).
- [11] Vajda S., Fibonacci and Lucas Numbers and Golden Section, Theory and Applications, Ellis-Horwood, London,